F“/L/V"' Snp=0

. coOs X )

F—J(méwSD(‘/’ES,'ﬂg(ra =3 A L= rmysinn .

450—,2,0.40‘&
/‘ 20.00. 8 X017

.( é //MWW

mg sind - V= ma

YY\éSm &_[/«')IJWSN: m&
A= q(siny - ,
é{( M )
a = m./f _ 0/”’1/“?)’«‘/’5,{‘/«/(1

Mm-‘ 0, 17 / 3, f"«/éi

/

//’05//4@:47

23




M2 1.2

Qoso :

L ﬂ%,{ = M; ws X
X , M)B: (/0 sihd
-7

D O padpospunc. gliminss

y= Z4A/5f% cosn E %:’ZZ‘}’//M—/LI

M:%«L-J—f W sioa b~ &

ﬁol = W iset => VE /V/axac‘é Z—? Ay
Bénad g__ (U wnyt - é)?(
%mﬂﬂ{»*g? ~ (/ﬁ&xai-{gi-i%d

4 .
Cos G o +’{7{f‘ K sindt = 4?%
o (%ng-%u+3f— Visina) = Z/jo(

'ﬁ* Yo const g g 4 @f,‘,,,,”‘,’f{ind

Z?M

et 4
Do - v@«auw(
(,[’ 2 N i e i e Y

3'110‘&’ NC ’i"l‘/ 4

Gz suefl-] \?1 € e, 0 s gk e gl
U4% | Ak—-
fa= W= 7%
&-? 14)'7/.17( 5Wm oa. Wm [4)\71‘&12;20\%&[1,.

3 - =
3 VA F 5 3920, g5 10X -1 -1
PSR- B SR T I
o f= VIT, . 7 0" LA
MM:' L.09 « 16k






